Distributive

Law of Multiplication

Use the distributive property to find each product.

D 18x2=(10+ 8)x 2 =(10x 2)+ (8 x 2)= 20 + 16 = 36

@24x4=(_+_)X__=(_ X_)+(_ x_ )= + =
327 xX5=(_+ )X =(_ X D)+ ( _x_ )= + =
@54x6=(_ + )x_ =(_x )+( x )=+ =
®68x2=(_+ )x_=(_x_)+(_xX_)=__ + =
®75x4=(_+_)Xx_=(_X_)+(_x_)=__ +__=
@88 Xx6=(_ + )X _ =(_ X _ )+( x_ )= =
®22%x8=(_+_ )x_=(_x_)+(_%x_)=__ + =
@35x5=(__ 4+ _)x_=(_ %X _)+(_x_)= + =

W 12X8=(_ + )X =(_ X _)H)+( x_ )= 1 =




® 18 x 2 = (10 +

2)= 20 +16= 36

@ 24 x 4 = (20 +

@ 27 x 5= (20 +

4)= 80 + 16= 96

@ 54 X 6 = (50 +

5)=100 + 35 = 135

G 68 x 2 = (60 +

6)=300 + 24 = 324

® 75 x 4 = (70 +

2)=120+ 16 = 136

@ 88 x 6 = (80 +

4 )= 280 + 20 = 300

® 22 X 8 = (20 +

6 )= 480 + 48 = 528

8)=160 + 16 = 176

5)=150 + 25 = 175

________________ Date
Distributive
Law of Multiplication
Answers

8)x 2 =(10x 2)+(8
4)x 4 =(20% 4)+ (4
7)x 5 =(20%x 5)+ (7
4)x 6 =(50x 6)+ (4
8)x 2 =(60x 2)+ (38
5)X 4 =(70x 4)+ (5
8)x 6 =(80%X 6)+ (8
2)x 8 =(20%x 8)+ (2
5)x5 =(30x 5)+(5
2)Xx8 =(10x 8)+ (2

@ 12 x 8= (10 +

8)=_80 +16= 96




